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PART A: Yocabulary

Directions: Choose the number of the answer (1),(2),(3), or (4) that best completes
the sentence. Then mark the correct choice on your answer sheet.

1- What is the formula for ---------- pounds into kilos?
1) compiling 2) converting 3) associating 4) assembling
2- The government tried o -—---——-— the book because of the information it contained about the
security services.
1) pursue 2) sanction 3) suppress 4) undertake
3- The study ---------- to show an increase in the incidence of breast cancer.
1) purports 2} contends 3) sustains 4) implements
4- The research indicates that 4 out of 10 passengers ---------- the law by not wearing their belts.
1) flout 2) submit 3) revenge 4) eliminate
5- You must be able to make all ----—----- - plans in the event of enemy attacks.
1) restraint 2) anticipation 1) consequence 4) contingency
6- In the eyes of the law, these two offences are -—- each other.
1) on the verge of 2) on a par with 3)inview of 4) in the course of
7- In a number of developing countries, war has been an additional ----——-— to progress.
1) mediation 2) supplement 3) impediment 4) retardation
8- The company is reported to have -——------ of nearly 590,000,
1) ledgers 2) equations 3) insertions 4) liabilities
9- The --——--—- effect of using so many harmful chemicals on the land could be considerable.
1) distorted 2) cumnulative 3) diminishing 4) compensatory
10- They have saved up a lot of money, so they can ------—-- afford to buy a bigger apartment,

1) equivocally 2) accessibly 3) analogously 4) presumably

| PART B: Grammar
| Directions: Read the following passage and decide which choice (1), (2), (3), or (4)
| best fits each blank. Then mark the correct choice on your answer sheet.

The body needs.many different nutrients, These are various substances (11) ----—------ provide
energy and the materials forigrowth, body-building, and body maintenance. Every day millions of
cells in the body die and must be replaced by new ones.

(12) ---------- foods contain all nutrients. So it is not just the quantity of food eaten that is
important, but also the variety. People who have enough (13) ---------- to them may still become ill
because they are eating too.much of one kind of food and not enough (14) ==----- -

To stay healthy, we need to eat a balanced diet. This means a diet containing the right

proportions of the main nutrients. Many foods (15) ------—-- of these basic nutrients. A balanced
diet also contains enough energy (in the form of food) to power the chemical reactions of living
11- 1) necessary 10 2) of necessity so as 1) to be necessary to 4) being necessity so as
12- 1) Not all 2) Not each 3) Neither do all 4) Neither each
13- 1) available food 2) food available 3) availability food 4) food availability
14- 1) others 2) another 3) of another 4) of other

15- 1) have mixture 2) 'have mixing 3) are a mixture 4) are mixing
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PART C, Reading Comprehension

Directions: Read the following twe passages and answer the questions by choosing the best ehoice
(1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

Passage 1:

Although providers have varying approaches as to the sequence of body parts, a
systematic examination generally starts at the head and finishes at the extremities.
After the main organ systems have been investigated by inspection, palpation,
- percussion and auscultation, specific tests may follow (such as a neurological
investigation, orthopedic examination) or specific tests when a particular disease is
suspected (e.g. eliciting Trousseau's sign in hypocalcaemia).
With the clues obtained during the history and physical examination the healﬂ'lnan:
provider can now formulate a differential diagnosis, a list of potential causes of the
symptoms. Specific diagnostic tests (or occasionally empirical therapy) generally
confirm the cause, or shed light on other, previously overlooked causes.

Whilst the format of examination as listed below is larpely as taught and expected of
students, a specialist will focus on their particular field and the nature of the problem
described by the patient. Hence a cardiologist will not in routine practice undertake
neurological parts of the examination other than noting that the patient is able to use
all four limbs on entering the consultation room and during the consultation become
aware of their hearing, eyesight and speech. Likewise an Orthopaedic surgeon will
examine the affected joint, but may only briefly check the heart sounds and chest to
ensure that there is not likely to be any contraindication to surgery raised by the

anaesthetist, Non-specialists generally examine the genitals only upon request of the
patient.

A complete physical examination includes evaluation of general patient appearance
and specific organ systems. It is recorded in the medical record in a standard layout
which facilitates others later reading the notes. In practice the vital signs of
temperature examination; pulse and blood pressure are usually measured first.

Most elements of the physical examination have not been subjected to clinical trials to
test their usefulness in identifying signs of discase. A 2003 study of patients in
hospital found that a quarter of them had signs identifiable on physical examination
that were relevant to their diagnosis and treatment.

16- What does the passage mainly discuss?
1) Specific Diagnostie Tests or Empirical Therapy
2) Eliciting Trousseau’s Sign in Hypocalcaemia
3) Format.and Interpretation of Physical Examination
4) Neurclogieal Investigation and Orthopedic Examination

17- It is mentioned in the passage that there exist -------- as to the sequence of body parts.
1) different methods 2) typical advancements
3) various deve]ﬂpmﬂms 4) conventional approaches

18- The word ‘palpation’ in the 3™ line refers 10 -—-=——=.
1) examining medically by'sénse of touch
2) tapping, as the chest, to discover internal conditions
3) examining medically by listening for sounds within the body
4) tapping some parl of the body to find out what is wrong with it
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19- If what the author says is true, then specific diagnostic tests normally ——---—=
1) help healthcare provider to formulate a differential diagnosis
2) reinforce the cause discovered by physical examination
3) provide a list of potential causes before physical examination
4) overlook previously obtained causes to shed light on new ones
20- According to the passage, a specialist will -——-——-- .
1) overlook his or her specific field
2) concentrate on his or her specific field
3) set aside the nature of the problem explained by the patient
4) ignore the nature of the problem described by the patient
21- The term ‘anaesthetist’ in line 19 refers to a person who
1) studies the branch of medicine relating to injuries and diseases of the bones or muscles
2) studies and treats heart diseases
3) is able to walk and not having to stay in bed
4) gives drugs to make patients unable to feel pain
22- It is mentioned in the passage that a full physical examination —-=-----.
1) consists of particular organ system
2) bans evaluation of general patient appearance
3) excludes measurement of pulse and blood pressure
4) includes a standard layout which facilitates others later reading the notes
23- The author finally concludes that ----————,
1) a quarter of patients in hospital have signs that are relevant to their treatment
2) the effectiveness of physical examination is totally rejected by clinical trials
3) a quarter of patients in hospital have signs identifiable on physical examination
4) the usefulness of physical examination has not mostly been experimented clinically

Passage 2:

Primary care medical services are provided by physicians or other health professionals
who have first contact with a patient seeking medical treatment or care. These occur
in physician offices, clinics, nursing homes, schools, home visits and other places
close to patients. About 90% of medical visits can be treated by the primary care
provider. These include treatment of acute and chronic illnesses, preventive care and
health education for all ages and both sexes.

Secondary care medical services are provided by medical specialists in their offices or
clinics or at local community hospitals for a patient referred by a primary care
provider who first diagnosed or treated the patient. Referrals are made for those
patients who required the expertise or procedures performed by specialists. These
include both ambulatory care and inpatient services, emergency rooms, intensive care
medicine, surgery services, physical therapy, labor and delivery, endoscopy units,
diagnostic laboratory and medical imaging services, hospice centers, etc. Some
primary care providers may also take care of hospitalized patients and deliver babies
in a secondary care sefting.

Tertiary care medical services are provided by specialist hospitals or regional centers
equipped with diagnostic and treatment facilities not generally available at local
hospitals. These include trauma genters, burn treatment centers, advanced
neonatology. unit services, organ transplants, high-risk pregnancy, radiation oncology,
ete.

Modern medical care also depends on information - still delivered in many health care
settings on paper records, but increasingly nowadays by electronic means.



24-

25-

26-

19-

T aoies

Sl 5
What would the best topic be for the above passage?
1) Medical Care Delivery 2) Primary Care Medical Services
3) Preventive Care and Health Education 4) Ambulatory.Care and Inpatient Services

According to the passage, primary care medical services are given by -,

1) specialists and professionals who seek medical treatment or care

2) those professionals who first meet a patient

3) those specialist physicians who meet sick people for the first time

4) physicians or other health professionals who seek medical treatment or care

If what the author says is true, then primary care medical services does not include s—————-,

1) health education 2) preventive care
3) medical imaging services 4) treatment of chronic illnesses
According to the passage, if 8 —-----—- refers him or her to a medical specialist e or she is given ——-—-

medical care services.

1) health professional who have second contact with a patient - secondary

2) health professional who have first contact with a patient — primary

3) physician who first treated a patient - secondary

4) physician who first diagnosed a patient — primary

What does ‘referral’ in line 9 mean?

1) asking professionals for help and medical advice in order to cure an acute or chronic illness
2) an official who reads and checks the past record of a patient who has referred to him

3)a person who gives information about a patient’s illnesses usually in a letter

4) sending a patient who needs specialist help to a person or place that can provide it

If a hospital or a medical center presents diagnostic serviges -—-—-— at local hospitals, it provides ——-
care medical services.

1) accessible — auxiliary 2) available - primary

3) not accessible — secondary 4) not available - tertiary

The author finally tries to state that ——-===--,

1) information is delivered on paper records in many health care settings

2) information plays an essential role in modern medical care

3) electronic means are increasingly employed nowadays to deliver information

4) electronic equipments are nowadays used increasingly to provide medical care
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